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(RIS CHEMISTRY
Secton- v 0 U“""
QJ:  Choose the correct ansud e fach 1 i e

(i) - The brach nfC ‘%‘Y‘“ arbon compounds is called ...
; (b) Physical chemistry
A RN J\ (d) Polymeric chemistry

(a) Molar mass b) Atomtc mass  (¢) Molecular mass
(d) Mass number
(i) The nuleus of an atom consists of .................
(a) Electronand Proton ~ (b) Proton and Neutron
(c) Electron and Neutron () None of these
(v)  The energy change that occurs when an electron is gained by an atom in the:
gaseous StAle 19 .....uw.uw.ves
(a)Electron affinity (b) lonization energy ,
(c) Electronegativity (d) None of these |
()  ThebondinMgOis....... 'E\
(a) Electrovalent bond (b ) Covalent Bond gihet@&

(d) Co-ordinate Covalent bond

(vij A certain temperature at which Erﬁﬂg liquid becomes equal to tilg
external pressure Is calle 1{1
(a) Malhng pomt m

(vil) § \I{f g partlcles in suspensions are generally of the size.

lling point (¢) Triple point

10nm (b) 100 nm (c) 1200 nm (d) 1 nm
(v} One Faraday is equaivalent {0 .........cocorrevee coulombs.
(a) 96600 (b) 96500 (C) 96400  (d) 96300
(x)  The formula of washing soda is ..
(@) Na,CO,. 8H,0 (b) Na CO 10H O () Na,CO,6H,0

(d) Na,CO.,, 4H2-O
(x)  The formation of water form of H2 and 02 is an example of ...........
(&, =xothermic reaction (b) Endothermic reaction
(c) Neutralizatin reaction (d) None of these
(xl]  The molecular mass of Heavy water is ..............
(@) 18am.u (0)22amu (c)20amu (d)24amu
(xii)  China caly is used in making of ... v
(a) Glass (b) Ceramrcs (c) Electncal insulator
(d) Crockeries
(xul)  The catalyst used for catalytic oxidation of NH3 in Ostwald's method s ..........

(a) Nickel (Ni) () Chormium (Cr)
() Vanadium penta oxide (V206)
(xiv)  The most abundant and useful halogen s .........
(a) Bromine (b) Flourine () lodme (d) Chlorine
( ;v) Which of the following consitutuents of shoe polish is used to provide shining to the
shoes.

(a) Bees wax (b) Sodium hydroxide (c) Peari ash (d) Soap

(c) Platinum (Pt)




